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.isprintable()

The .isprintable() method returns True if all characters in the string are printable

(including space, but not newline) or the string is empty, False otherwise.

s = v = 'a\tb’
s.isprintable() v.isprintable()
ge " w = '‘a\rb’
t.isprintable() w.isprintable()
u = 'Welcome Nifo' x = 'a\nb’
u.isprintable() Xx.isprintable()
True False

True False

True False
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.isspace()

The .isspace() method returns True if there are only whitespace characters in the
string and there is at least one character, False otherwise.

= "\t \n"'
.isspace()

s
s
t
t.isspace()
u = '\uee2e’
u.isspace()

True
True

True

v
v.isspace()
w="'"5s "
w.isspace()

False

False
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ASCII(American Standard Code for Information Interchange)

ASCEE i 125 harecters by [ T o e

using 7 bits of a byte (27 = 128) NUL 10 DLE

. . . o1 SOH 11 DC1 /|21 | 311 41 A 51 Q 61 a 71
(8t bit - parity bit /error check) % |sTx |2 DC2lm |° » 2 e lg = R @b |o :I
The latest standard, Unicode o3 ETX 13 DC3 23 # 33 3 3 C 5 S 6 ¢ 73 s
Standard, supports more than 120 of % EOT 14 DC4 2¢ § 3¢ 4 4 D 5 T 6 d 7 t
05 ENQ 15 NAK 25 % 35 5 5 E 55 U 65 @ 75U
the world’s most spoken languages. TR T T 7 v
Presently, UTF-8 is the most oz BEL 17 ETB 27 37 7 a7 G 51 W 67 g 7w
common character encoding in the % BS 18 CAN 2 (% 8 4 H % X & h 7 X
09 HT |19 EM 29 ) 39 9 49 | 5 Y 69 i 79y
industry as UTF-8 is backward- 'F [& [suBlea = = |- wJ sz e ] e
compatible with ASCIl and can o8 VT 18 ESC 28 + 3B 8B K 58 [ 6Bk 7B {
represent any standard Unicode °¢ FF ¢ FS 2. 3¢ < 40 Lsc A 60 1 Te ]
oo CR |10 @GS |20 - 3D = D M 50 ] 60 m ™}
character (The first 128 UTF-8 _ so e [rRs |= 1. e > e IN e 12 Tee In [7e |-
characters precisely match the first or SI  1f US 2 7/ 3F 2 4F O 5F 6f o 7F DEL

128 ASCII characters)
(UTF stands for Unicode Transformation Format) %gk nXt



® e o
Jdsascii()
The .isascii() method returns True if the string is empty or all characters in the string

are ASCII, False otherwise

.isascii()
T 1

.isascii()
= Tﬁl
.isascii()
= |'/|

.isascii()

< < CC tcdwnown

True
True
False

True
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.isalpha()

The .isalpha() method returns True if all characters in the string are alphabetic and
there is at least one character, False otherwise (Alphabetic characters are those

characters defined in the Unicode character database as “Letter”)

' # empty string is not an alphabet
.isalpha()

+ n n
el

# space is not an alphabet
t.isalpha()
u = 'helle ' # space is not an alphabet
u.isalpha()
u = '123" # digit is not an alphabet
u.isalpha()

False

False

False

False

v = 'hello’
v.isalpha()
w = 'Nifio’
w.isalpha()

True

True
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.isdecimal C .isdigit C .isnumeric

The .isdecimal() method returns True if all characters in the string are decimal
characters, and there is at least one character, False otherwise.

The .isdigit() method returns True if all characters in the string are digits, and there is at
least one character, False otherwise.

The .isnumeric() method returns True if all characters in the string are numeric
characters, and there is at least one character, False otherwise.

If a string is decimal, then it'll also be digit and numeric. (numeric is a superset of

digit which is a superset of decimal) If astringisdigit, thenitll also be numeric.
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isdecimal()==True (so, isdigit()==True and isnumeric()==True)

Almost alldigits from all supported languages are decimals (only few are shown below)

"0123456789"
"OYYYEOTYALY
"o2RIURLLY!
"05VBE VLAY
"0938YEO LY
"093¥USIC "
"oR9eNE§ 9O

n n
052 6 & ([H &6l Fn

"oN_93wxeeoe"

ENGLISHDIGITS (0 - 9) "O0N9AYRE 25"
ARABIC-INDICDIGITS (@ - 9) o.M BRmoYm"
DEVANAGARIDIGITS (@ - 9) "oelboc&dbalc”
BENGALIDIGITS (@ - 9) "oeldVeE@®NY"
GURMUKHIDIGITS (@ - 9) "OOqufj@?@@"
GUJARATIDIGITS (0 - 9) "oolmeionae"

"0123456789"
"0123456789"
"0123456789"
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ORIYADIGITS (0 - 9)

TAMILDIGITS (6 - 9)

TELUGU DIGITS (0 - 9)

KANNADA DIGITS (8 - 9)
MALAYALAM DIGITS (@ - 9)
THAIDIGITS (@ - 9)

LAODIGITS (8 - 9)
MYANMAR DIGITS (8 - 9)
KHMERDIGITS (8 - 9)
FULLWIDTH DIGITS (8 - 9)
MATH BOLD DIGITS (¢ - 9)

MATH DOUBLE-STRUCKDIGITS (0 - 9)



isdecimal()==False but, isdigit()==True (so, isnumeric()==True)

Some special digits from many languages are digits (only few are shown below)

"0123456789" SUPERSCRIPT DIGITS ZERO TO NINE

"0123456789 " SUBSCRIPT DIGITS ZERO TO NINE

"0.1.2.3.4.5.6.7.8.9." DIGITS WITH PERIOD ZERO TO NINE

"0,1,2,3,4,56,7,89" DIGITS WITH COMMA ZERO TO NINE

"0DO2BDEE®DEO" CIRCLED DIGITS ZERO TO NINE
"000600600000' NEGATIVE CIRCLED DIGITS ZERO TO NINE
“(1)(2)(3)(4)(5)(6)(7)(8)(9) " PARENTHESIZED DIGITS ONE TO NINE

" 0000060000 DINGBAT NEGATIVE CIRCLED SANS-SERIF DIGITS ONE TO NINE
"ABT0&ELTO" ETHIOPIC DIGITS ONE TO NINE
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isdecimal()==False and isdigit()==False but,

Some chars from many languages are numeric (only few are shown below)

"2 s Ve s Ve s s s Ve e Ve Vs "
"TIOINVVVIVIIXKXXIXIL CDM"

"10(1D©2)13)(9)(5) (0 WBWBB DB

1020, 30, 20150, 6, 70, 80"

" (10) (1) (12 (13) (14) (15) (16) (17) (18) (19) 20"
"10.11.12.13.14.15.16.17.18.19. 20."

000000000
X 6 L= A

YR

1
]
|-ol

"1 Tipee

I
1S
1€l

VULGAR FRACTIONS

ROMAN NUMERALS

CIRCLED NUMBER (10 - 50)

isnumeric()==

True)

CIRCLED NUMBERS ON BLACK SQUARE (10 - 80)

PARENTHESIZED NUMBERS (10 - 20)
NUMBERS WITH FULL STOP (10 - 20)
NEGATIVE CIRCLED NUMBERS (11 - 20)

HANGZHOU NUMERAL (1 - 10, 20, 30)

ETHIOPIC NUMBERS (10 - 90, 100, 10000)
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.isdecimal()
.isdigit()
.isnumeric()

[ DI DI TR o]

False

False

False

b=""
b.isdecimal()
b.isdigit()
b.isnumeric()
False

False

False

c="'0'
c.isdecimal()
c.isdigit()
c.isnumeric()
True

True

True

# empty string

# space

# NUMBER ZERO

d = -Ou
d.isdecimal()
d.isdigit()
d.isnumeric()
False

False

True

e = '98.4"'
e.isdecimal()
e.isdigit()
e.isnumeric()
False

False

False

f = '-40°
f.isdecimal()
f.isdigit()
f.isnumeric()
False

False

False
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# IDEOGRAPHIC NUMBER ZERO

# float

# negative number



g='038"
g.isdecimal()
g.isdigit()
g.isnumeric()

True

True

True

h = "'"1)2©
h.isdecimal()
h.isdigit()
h.isnumeric()
False

True

True

# white space between digits

# bracketed, circled & negative circled digits

i="X'
i.isdecimal()
i.isdigit()
i.isnumeric()
False

False

True

j = lxl
j.isdecimal()
Jj.isdigit()
j.isnumeric()
False

False

False
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# Roman numeral 10

# Letter X



.isalnum()

The .isalnum( ) method returns True if all characters in the string are alphanumeric
and there is at least one character, False otherwise.

A character cis alphanumeric if any one of the following returns True:

. j_salpha( ) e

False

.isdecimal( ) -

l.;salnum()
.isdigit( )

# space

False

m = 'Nifio’
m.isalnum()

.isnumeric( ) True
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len( )

The built-in function len(s) returns the length (the number of items/characters) of s.
The argument, s, can be a sequence (string, bytes, tuple, list, or range) or a collection

(dictionary, set, or frozen set)

len('")
len('\t")
len('\n")
len('3+4j")
len('Hello")
len('-23")
len('Nifo")

len(' &)

5}
1
1
4
5
3
4
1
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str( )

The built-in function str(obj) returns a string representation of the ob7j

str() str(3+43j)

o str(True)
Str‘(I ? str('Hello")
str( ) str(12 + 6/2 * 3)
str(12) str(-23)
str(24.7) str(' dh")

'(3+45)"
'True'
'Hello'
'21.0°'
12" '3
'24.7" A
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ord( ) and chr()

The built-in function ord(c) returns an integer representing the Unicode code point of c.
This is the inverse of chr()
The built-in function chr(i) returns the string representing a character whose Unicode

code point is the integer i. This is the inverse of ord()

e i chr(65)
or‘d(:a:) chr(97)
ond(€") ehr(36)
ord('\N{euro sign}') C:F(Sigi)
ord('\N{dollar sign}') chr( )
ord('\N{indian rupee sign}') chr(8383)
ord('\N{bitcoin sign}") chr(9786)
ord(*\N{PERSON WITH FOLDED HANDS}') chr(128591)
65 A"
97 ar
36

V$l
8364

e
8364

g
36
8377 B
8383 s
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Resources

For best python resources, please visit:

@ gknxt.com/python/
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